

Table of Formulas

| $f(t)$ | $F(s) = \mathcal{L}\{f(t)\}$ |
|--|--|
| t^n | $n!/s^{n+1} \quad ; n = 0, 1, 2, \dots \text{ and } s > 0$ |
| e^{at} | $1/(s - a) \quad ; s > a$ |
| $\sin(kt)$ | $k/(s^2 + k^2) \quad ; s > 0$ |
| $\cos(kt)$ | $s/(s^2 + k^2) \quad ; s > 0$ |
| $\delta(t - a)$ | $e^{-as} \quad ; s > 0$ |
| $u(t - a)$ | $\frac{e^{-as}}{s} \quad ; s > 0$ |
| $\mathcal{L}\{f(t)\}(s)$ | $= \int_0^\infty e^{-st} f(t) dt$ |
| $\mathcal{L}\{e^{at} f(t)\}$ | $= F(s - a)$ |
| $\mathcal{L}\{u(t - a) f(t - a)\}$ | $= e^{-as} F(s)$ |
| $\mathcal{L}\{t^n f(t)\}$ | $= (-1)^n \frac{d^n}{ds^n} F(s)$ |
| $\mathcal{L}\left\{\int_0^t f(x) dx\right\}$ | $= \frac{1}{s} F(s)$ |
| $\mathcal{L}\left\{\frac{f(t)}{t}\right\}$ | $= \int_s^\infty F(x) dx$ |
| $\mathcal{L}\left\{\frac{d^n}{dt^n} f(t)\right\}$ | $= s^n F(s) - s^{n-1} f(0) - s^{n-2} f'(0) - \dots - f^{(n-1)}(0)$ |
| $(f * g)(t)$ | $= \int_0^t f(x) g(t - x) dx$ |
| $\mathcal{L}\{(f * g)(t)\}$ | $= F(s) G(s)$ |
| $x_{n+1} = x_n - \frac{f(x_n)}{f'(x_n)}$ | |
| $p_n(x) = L_0(x)f_0 + \dots + L_n(x)f_n$ | |
| $L_i(x) = \frac{(x - x_0) \dots (x - x_{i-1})(x - x_{i+1}) \dots (x - x_n)}{(x_i - x_0) \dots (x_i - x_{i-1})(x_i - x_{i+1}) \dots (x_i - x_n)}$ | |
| $\epsilon_n(x) = f(x) - p_n(x) = (x - x_0) \dots (x - x_n) \frac{f^{(n+1)}(\xi)}{(n + 1)!}$ | |
| $p_n(x) = f_0 + f[x_0, x_1](x - x_0) + f[x_0, x_1, x_2](x - x_0)(x - x_1) + \dots$ $\dots + f[x_0, \dots, x_n](x - x_0) \dots (x - x_{n-1})$ | |
| $f[x_j, x_{j+1}] = \frac{f_{j+1} - f_j}{x_{j+1} - x_j}$ | |
| \vdots | |
| $f[x_j, \dots, x_k] = \frac{f[x_{j+1}, \dots, x_k] - f[x_j, x_{k-1}]}{x_k - x_j}$ | |

$$\int_a^b f(x)dx = h \sum_{j=1}^n f(x_j^*), |\epsilon| \leq \frac{M(b-a)^3}{24n^2}, M = \max_{a \leq x \leq b} |f''(x)|$$

$$\int_a^b f(x)dx = \frac{h}{2} \sum_{j=1}^n (f(x_{j-1}) + f(x_j)), |\epsilon| \leq \frac{M(b-a)^3}{12n^2}, M = \max_{a \leq x \leq b} |f''(x)|$$

$$\int_a^b f(x)dx = \frac{h}{3} \sum_{j=0}^{n-1} (f(x_{2j}) + 4f(x_{2j+1}) + f(x_{2j+2})), |\epsilon| \leq \frac{M(b-a)^5}{180n^4},$$

$$M = \max_{a \leq x \leq b} |f^{(4)}(x)|$$

$$x = \frac{b+a}{2} + \frac{b-a}{2}t$$

$$\int_{-1}^1 g(t)dt \approx w_1g(t_1) + \dots + w_n g(t_n)$$

| Ordre | Noeuds | Coefficients |
|-------|---|---|
| n | t_i | w_i |
| 2 | -0.5773502692 0.5773502692 | 1.0 1.0 |
| 3 | -0.7745966692 0.0 0.7745966692 | 0.5555555556 0.888888889 0.5555555556 |
| 4 | -0.8611363116 -0.3399810436 0.3399810436 0.8611363116 | 0.3478548451 0.6521451549 0.6521451549 0.3478548451 |
| 5 | -0.9061798459 -0.5384693101 0.0 0.5384693101 0.9061798459 | 0.2369268850 0.4786286705 0.568888889 0.4786286705 0.2369268850 |

$$x_{n+1} = x_n + h$$

$$y_{n+1}^P = y_n^C + h f(x_n, y_n^C)$$

$$y_{n+1}^C = y_n^C + \frac{1}{2}h (f(x_n, y_n^C) + f(x_{n+1}, y_{n+1}^P))$$

$$x_{n+1} = x_n + h$$

$$k_1 = h f(x_n, y_n)$$

$$k_2 = h f(x_n + \frac{1}{2}h, y_n + \frac{1}{2}k_1)$$

$$k_3 = h f(x_n + \frac{1}{2}h, y_n + \frac{1}{2}k_2)$$

$$k_4 = h f(x_n + h, y_n + k_3)$$

$$y_{n+1} = y_n + \frac{1}{6}(k_1 + 2k_2 + 2k_3 + k_4)$$